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'A'nswer ALL questions -

PAR’F A — (10 X 2 20 male)

D 1, Defme an “agonic and 1sogonic hnes
. : A '. 2. Find the combined dorrection for cu_wature and refracti_oo for a distance of a
@ 3400m T
'(b)'. 1 29km _ _ A _
_. 3. What is the basic pnnmple followed 1r1 stacha method‘? S o _
. 4. What are the factors on which the choice of contom interval depends‘?
.:_ ( 5. D;ffelentlate between Laplace station flom satelhte statlon
o 6. Fmd the most p10bable value of the angle A from the. followmg obselvatlon. B
“eyuations | : -
A =40°20' 12"
2A = 80° 40" 20"
6A=40°20' 12" |
7. Name the factors to he considered in iihe selection of a ciisoharée site. -
8.. What is.the relation between the Right ascension and Hour angle"
9. Bnng out the temporary adjustments of a total statmn .
-10.

List the advantages of GPS surveying,



A satellite station S is 6.5 m from the main station A and the following

Calculate the dlstance AB RL of A and B. Find also the gradient of line

AB. o o @3) .
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PART B — (5 x 13 = 65 marks) 13. (a).
: - : A ‘ observations were taken A = 0° ("; B = 102°48 ; C = 256°12"; D = 324°6".
11. (a). (i) A chain line PQ intersects a pond. Two points A and B are taken on The length AB, AC and ‘AD were computed to be 1895 m, 2277 m,
- the chain line on opposite sides of the pond. A line AC, 2560 m long, 2522 m respectively. Determme the dnectlon of the line AB, AC and AD.
- is set out on the left of AB and other line AD, 300 m long is set out : (13)
on the right of AB. Points C, B and D are in the same straight N
line. CB and BD are 100 m and 150 m long 1espect1vely Calculate, Or . _ .
the length OfAB ' | O (b The following angles were measured at a station O so as to close the
(i) A traverse ABCDA is made in the form of a square taking in ' horizon: »
clockwise order. If the bearing of AB is 120° 30, find the bearing of | AOB = 83° 42’ 28.75” weight 3
* the other sides. , . - (8) -
: - - | BOC = 102° 15’ 43.26” weight 2
Or . ' o '
- ' : ' COD = 94° 38 27.22” wetght 4
(b} The following consecutive readings were taken with a levelling I—-—— ' S B _
. instrument at intervals of 20 m. The readings are 2.375, 1. 730, 0.615, ) I DOA =79° 28 23‘77”_ . weight 2
3.450, 2:835, 2.070, 1.835, 0.985, 0.435, 1.630 2.255, and 3.630 m. R | o L
: -The mst1ument was shlfted after fourth and elghth readings. The last . e L AdJUSt the angle bY method Of correlates . : - R O &) o
' reading was tak BM. of RL 110200 Find the RL of all the - -
o _-_ri?nisg_ as ”a en on a b o e. - (15 - 14, (a) Explam the d1ffe1ent comdmates systems by whlch the posmon of _
SR B T b TS SRR R '_heavenlybodycanbespemﬁed T R (13)_"' -
12. (a) ' The top (Q) of a ch1mney was eughted from two statmns P and R at very : Cor '
' different levels, the stations P and R being in line with the top of the S ‘ o -
~chimney. The angle of elevation from P to the top of the chimney was 38° RE— Explam various soundmg methods n deta11 R (13) .
21" and that from R to the top of the chimney was 21° 18'. The angle of. : L ol '
15. Explain th ki le of a total station. 8
- the elevation from R to a vane 2m above the foot of the staff held at P ' .(a?. : ® xplain the wor mg princip o N ‘ ®)
was 15° 11, The heights of instrument at P and R were 1°.87m and B¢V Dlsc_:uss the dxfferer_lt sources of emors in a total station. o (5)
~~1,64m respectively. The horizontal distance between P and R was 127 m - o ' Or ' '
and the reduced level of R was 112.78 m. Find the RL of the top of the - . o - - - e
'_chlmney and the horizontal dlstance from P to the chlmney 8y - () Explainin detall abOUt the (h_fferent segments_of GP s.. 1y
| " Open o R PARTC-—-(1><15—15 marks) )

b) The followmg observatlons were made usmg a tacheomete1 fltted with an 16. - (a) Dlscuss the field plocedmes 1nvolved in preparmg a map of a ploposed R
. anallacticlens. _ ' “hospital building. - : (15) — .
Ins'ﬁrumenc - Hoightof e T e g e e T . e e e

station ‘ instrumentation station - angle Hgir ' T : Or : o
e o readings '~ . “(by With a neat sketch, explain the types of suweymg for the constluctmn of oo
0 - 1550 . .. A . 30°300 4° 30 .1,155, RLofO= - - highway include all p0331ble measurements 1equ11ed
C ' ' . 1755, 150.000m -
. 2.355 '

1550 B 75° 10°15 -1.250, .

o ' - 30° _ 2,000,

S 2.750
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